| dE/dx estimator 1 |

Ratio

Ratio

o
P

F - Entries 93780
- : Mean 2.768
(O S i I AR SR Std Dev 1.223
C Entries 93737
- : Mean 2.779
(0174 et S S 1 Er R SR Std Dev 1.206
I Entries 93943
o : Mean 2.781
0.15 i — mrrreee Std Dev 1.203
| Entries 93610
- : Mean 2.78
(O] | = SERECEREEEETELIES AR AT ELIIR SRRRRRRALE Std Dev 1.203
i Entries 94396
L : Mean 2.779
0.05-- ARl ARRARREN B R R EEERLRE LA Std Dev 1.204
TR L
O : :-‘r 1111 I 1111 I 111 = : I
1| b : SHNERED
B : T[4
- : Tl
0.9F : T
SE : iR
r : HE N
r H -+
- : HE S
1 2 3 4

78 9 10
dE/dx, harm?2

— Entries 93780
L Mean 2.601
o Std Dev 1.192
] R | A v Enves G377
B Mean 2.607
B Std Dev 1.175
0.2 i e e Pt ]
C Entries 93943
| Mean 2.607
L Std Dev 1.171
] el O Rt S S S ]
? Entrles 93610
- Mean 2.607
- Std Dev 1.171
0.1 : : : T
o Entries 94396
i Mean 2.606
O 05 Std Dev 1.172
B | Laaa iy
o Of : : : It &
*c's' 1 : : o {4151 |-
x P : = L4 T
I : : Il
0.9 : : TEITFL
- 5 5 AL
C : ; TF
0O 1 2 3 4 5

| dE/dx estimator 2 |

0.8

78910

—=— DQM_origina_step2_ttoar-
—e— DQM”pixelCPETemplate_step2 ttbar-phasel-newgeom

—— DOM]| plerCPETempIateCut hiSquareNew_step2_ttbar-phasel-newgeom
—— DOM~pixelCPETemplateCutChiSquareNew?Z_stepZ_ttbar-phasel-newgeom
—— DQM™] plerCPETempIateCutCh|SquareNeW3 step2_ttbar-phasel-newgeom

NaseL-MewgeoIlT

N CTTaTeS Joroo1— N/ aa——————m————— CTTaTeS 93780
O~ L A Mean 7.6 0.7F= 5 5 5 '’ Mean 0.4647
: Std Dev 5.396 k : : : : : |_Std Dev 0.7991
0.12 """"""""""""""""""""""""" Entries 93737 0 6_ -------------------------------------------- Entries 93737
f Mean 7.765 i Mean 0.475
: Std Dev 5.403 a0 e Std Dev 0.8062
1 | e R SR FRREEEEED FEEEECEEE 1 0-5; : : 1
Entries 93943 I Entries 93943
: Mean 7.78 : : : : i | Mean 0.476
0.08 - iermrrerbereme bt Std Dev 5.395 0.4 e e e froe "| std Dev 0.8062
: Entries 93610 : : : : : Entries 93610
006 """"""""""""""""""""""""""" Mean 7.777 0.3f """" """" """" """" Mean 0.4761
3 Std Dev 5.394 : : : : . | std Dev 0.8066
OO o e e i A Entries 94396 0.2 e o o o [ Entries 94396
3 Mean 7.78 : : : : . | Mean 0.4756
L Std Dev 5.395 Std Dev 0.8057
0.02 ..'_ -------------------------------------------------------------------- 0. ------ e Foeenaens IR Peeeeaees Peeeeeeen Feeeenes Feeeeeees ;
J_O_i_'....l.... |||||| o .0l ||||||||
C = ;
o ©
1,05}t 1 04
1:—--#— it
0 9 i i 095 i i i i i i i i i
0 10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80

dE/dx number of measurements

dE/dx number of measurements with saturation



	Contents
	Page 1


